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1. a) Define recursion. What are the properties of recursive procedure? [2+2] |CO3} L1




1. b) Write a C program to perform operations on a priority Queue.

ANSWETr:
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What is a Queue/Linear Queue? List different types of Queue. Write C implementation for
insertQ() and deleteQ() operation.
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3a. Explain tower of Hanoi for n = 3 disks with example
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3b. Write a note on Ackermann’s Function. Calculate for A(1, 3).
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4. What is the disadvantage of a queue? How can this be overcome? Explain with an
example.
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5. What is a list? Explain different types of lists. Demonstrate with a C program how|
singly linked list can be used to implement a Queue.
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‘ ink cbta;
stwyck Node * rext;
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void inset (lnt);
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Void {nsest (int valve)

stywer Mode *newNode ; ; :
newlisde = { stiuct Node ™) malloc (szeof-(mt

new Node - aala = Valve ;
newplode — hext = NULLS
& (f100t => AULL)

front = Tea¥ s newhode ;
else

fens - nett = m/wde,
yeay = newhiode ;
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6a. Implement the concept of multiple stack using arrays in C. Explain with suitable

example pictorially.
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while (1)
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7.a Write C functions to perform the following operation on a doubly linked list:
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7. b) Write a C function to evaluate a given polynomial (For eg: 5x3 + 2x? + 9) using single

linked list for a given value of X

void evaluate_poly()

int x, sum =0;

printf(“\nEnter the value of x: );
scanf(“%d”, &x);

POLY temp;
temp = first;
while(temp != NULL)
{

sum = sum + (temp->coeff*pow(x, temp->px));
temp = temp->link;

}

printf(“nThe sum is: %d”, sum);
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8.2 What is the disadvantage of singly linked list? How is it overcome? Explain front

insertion and end deletion on a doubly linked list.
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